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MR Chart for A | Chart for A

Sub Test Cycle # Start Time End Time Run Time (s) Moving Range Avg Range LCL ucL Process Avg Avg Process Av¢ LCL ucL
1 0 846.1 846.1 0 495.6333333 0 1275.7602 846.1 617.5111111  -260.7511556 1495773378 = MovingRange == AvgRange LoL = uct = ProcessAvg == Avg Process Avg Lot
2 885.6 944.1 58.5 787.6 495.6333333 0 1275.7602 452.3 617.5111111  -260.7511556 1495.773378 O 1500 = ucL
A 3 944.2 1702 757.8 699.3 495.6333333 0 1275.7602 554.1333333 617.5111111  -260.7511556 1495.773378 § 1000 El 1288
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1 0 846.1 846.1 0 485.6666667 0 1250.106 846.1 613.5388889  -247.0624444  1474.140222 artior artior
2 891.2 948.4 57.2 788.9 485.6666667 0 1250.106 451.65 613.5388880  -247.0624444 1474140222 ~ = MovingRange == AvgRange LcL = ucL = ProcessAvg = Avg Process Avg LeL
B 3 948.5 1673.8 7253 668.1 485.6666667 0 1250.106 542.8666667 613.5388880  -247.0624444 1474140222 @ 1500 = et
° o 1500
2 1000 2 1000
T 500 Z 500
2 =4 0
£ 0 £ 500
m 10 15 20 25 30 @ 10 15 20 25 3.0
Cycle Number Cycle Number
Sub Test Cycle # Start Time End Time Run Time (s) Moving Range Avg Range LCL ucL Process Avg Avg Process Av¢ LCL ucL
1 0 0 o o o o o o o MR Chart for C | Chart for C
2 0 0 0 0 0 0 0 0 0 = Moving Range == Avg Range LCL == UCL = ProcessAvg == Avg Process Avg LcL
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2 0 0 0 0 0 0 0 0 0 = Moving Range == Avg Range LCL == UCL = ProcessAvg == Avg Process Avg LcL
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2 0 0 0 0 0 0 0 0 0 = Moving Range == Avg Range LCL == UCL = ProcessAvg == Avg Process Avg LcL
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